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Psychology
Paper II

HAIaA
gyautrent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each carrying
Two (2) marks. Attempt Al/ questions.

A : A YA TR TE (50) qguAidl TR el SA goke WAl g (2)
U SRd. @E U Wi

1. Inaphantom hand experience there | 1 syurdt @ & YW :

s a :
(A) TR-4H 9T AJ&EY THdId
(A) Visual and auditory mismatch

(B) TH-TIX1 YA STIET 9™

(B) Visual and tactile mismatch

. , , (C) SIR(SAT & AU YA AT
(C) Proprioceptive and auditory 1

mismatch ;
(D) Visual and proprioceptive (D) IR 9 WA= WA AT
mismatch Tqard

2. Stimulus similar to original CS will | 9 L) AMYETIT USRI I 3T

elicit similar response is called : eI T Hiafha ST A e
TRoldrd

(A) Generalization
(A) =IO

(B) Discrimination
(B) &R0

(D) Substitution (D) wfaema=

3 [P.T.O.



Concepts are learned through
psychological processes. That are :

(1) generalisation
(2) classification

(3) categorization
(4) discrimination

Select the correct option from the
codes given below :

(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (4) only
(D) (3) and (4) only

Which of the following monitors the
internal states of the body ?

(A) Drive
(B) Homeostasis
(C) Hemoglobin
(D) Needs

Spearman’s two-factor theory
defines intelligence as :

(A) Composed of multiple abilities
(B) A global, unitary ability

(C) Composed of 120 unique
combinations

(D) A set of primary abilities

A person is asked to respond to
vague/ambiguous stimuli when
taking a :

(A) Pencil and paper test
(B) Projective test
(C) Personality inventory

(D) Behavioural assessment
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qHERTSTE gfrar=ar eR Hahed
L EIE T2 S 1 1 ) O -5 B

(1) STHIHRT
(2) TR

(3) HarTiehul
(4) TR

Tt fede@ Fhaem = 9Iig
aer

(A) (1) 3Tfur (3) e

(B) (2) (01 (3) Therd

(C) (1) 3Tfur (4) e

(D) (3) 3T (4) Terd

IR ofaies uRfrerdia emefers
gITUeh! IV 3TRd 2

(A) =

(B) wHfeerdt

(C) eHrefe

(D) T

Togere=a fg-—wes fagagar gigaxel
E2IES2 1 I

(A) wgfay eHar faegt aeete
(B) Af¥aen/SmTfdes Tehehl &THaT

(C) 120 3Tfgcha weahr= fHagd s eiean
EIERI

(D) Wi earn §9
Tl Sogl STETse/TfeTe STl

o N LTSN LY LN
d‘l%lthl SEEISESHNRN STt dcel A4 encl

(A) IR o7ifor ufger ==l
(B) 9&qur ==t
(C) AfFaH~e Tfereht

(D) ST HEIHIA




(Types of Norms)

(P)

Q

(R)

(S)

A researcher tries to make sure that
subjects in the experimental and
control groups are very similar to
each other in order to reduce the
effects of :

(A) Extraneous variable
(B) Random variable

(C) Dependent variable

(D) Independent variable

Match Column-I with Column-II by
using the codes given below :
Column-I Column-II
(Features)
Age Norms (1) Scores are
expressed in
SD units
Percentile (2) Sequential
Norms formation of
concepts and
motor skills
Mental
development
Standard Score (4) Unequal

Norms

Ordinal Norms (3)

units of
measurement
Codes :
P @ @R )
A 3 @ @ @
B @2 @O @ @
© o @ @ 3
M @ & @O @)

(AHES™ &)
(P) 99 HMES (1) v faaerren

(R) &HaM=F AFeS (3)

(S) vWIfrd Urdieh (4)  HIYAA
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SHIECAS SRS SRR P CEDR IR C)
ERERELRIC ket i c R SR G| Gl
EhME TRUMH HHIdRAT B8l

(A) @ aRac
(B) Ao 9Recd
(C) Tactst aReed
(D) T e

WY-1 =1 WY-II I SIed] @t
HehalshTeal STMER el ¢

wWY-I wWY-II

(SfsTe=)

TChTd YTk

gyifaet STard

(Q) TAWMT WFEE  (2) Heheud omfor

e PRI
HHAIN HSUT

qfges faehtg

HISS STHHT ¥deh

Hehdich :

P Q R O
@a 3 @ @ @
B 2 1 & @
© Q1 @ @ 3
M @ 3 @O @

[P.T.O.



10.

Fill in the correct numbers in the
blanks, from the choices given

below :

There are ..................... segments in

the human spinal cord : .....................

cervical, ...............o.ll thoracic,
..................... lumbar, ........cc...........
sacral & ........ceeueennenn. coccygeal.
(A) 35 :10, 10, 12, 1, 2

(B) 31 :8,12,5,5,1

(C) 30 :10, 10,7, 1, 2

(D) 33 :9, 11,6, 4, 3

Gibson’s theory of direct perception

implies that :
(1) Perception is used to adapt to

environment

(2) Perception is used to control

action

(3) When observer moves, optic
array changes

(4) Sensory systems are perceptual
systems

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only
(D) (1), (2), (3) and (4)

10.
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: 10, 10, 12, 1, 2
: 8,12, 5,5, 1
: 10, 10, 7, 1, 2
D) 33 :9, 11, 6, 4, 3

i = 9 Hagqrn faga s™
I

(1) FocAT SUAr REemel S[eaq
OIS Shell STl

(2) gagarar 3w fwIar fAasdw
SATUTUATS] shell STl

(3) Titerw Tordl, deal g UfekCe
EGH|

(4) dfer T &1 Hoga=a TEHl
AYdrd

Hehdih :

(A) He (1) 7T (2)
(B) e (1) TfUT (3)
(C) K (1), (2) =7for (3)
D) (1), (2), (3) 3701 (4)




11.

12.

13.

When an operant response is
built by method of successive

approximation it is called :
(A) Higher order conditioning
(B) Reinforcement

(C) Shaping

(D) Generalization

The ..ccoeeeieeene. model of memory
proposes physical, acoustic and

semantic parts.

(A) Structural model

(B) Connectionist model
(C) Processing model

(D) Non-declarative model

The activated portion of long-term

memory is called :

(A) Declarative memory
(B) Working memory
(C) Sensory memory

(D) Procedural memory

11.

13.
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el fiohed UgdigR Siegl AT
Ffvger Tenfuqd s S0 @l

UG
(A) =3 sforw SIfvEYH
(B) Wercilehtol

(C) e

(D) WTHTERTO

qfqer, sl 2T TR YR Area
3R

(A) TTATCHS TT&Y9

(B) STIAHE® UTEY

(C) 9fehaa ey

(D) A-ENTUMcHR Y&y

Srefdifas wdrdia afea Jren

U
(A) EIYUTHE Tl
(B) ehifeh &t
(C) o

(D) ufsrarcHe T

[P.T.O.



14. In attempting to find and purchase

15.

high-quality cosmetics, Hema

reminds herself that most expensive
brands are the best. Hema’s self-

reminder illustrates the use of :

(A) An algorithm

(B) A heuristic

(C) The farming effects

(D) Functional fixedness

A substance that can act directly
on brain receptors to stimulate

thirst is :

(A) Angiotensin

(B) Endorphin

(C) Lipoprotein

(D) Acetylcholine
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14. =IO Hicd YA Y ST 9

15.

T BET OIS, §H1 el A3

T ! 3T HENTE! Sieq & ANTell 3Ted.

U T ol T8I0l U™ 3ETed0l gl

ERRIR T

(A) SFAREH
(B) et

(C) = 9ftomm

(D) FHEfaeEReGd

TG TR 92 IR hed ol Seiad

HE IFHUR TS
(A) Tftefefa
(B) T=ffthd

(C) ARIgRN

(D) THIFIARIAT




16.

17.

18.

Galton attempted to measure
intelligence in order to demonstrate

that intelligence was determined

by :

(A) Heredity

(B) Experience

(C) Neither heredity nor experience
(D) Both heredity and experience

Which of the following test is most

similar to Rorschach ?
(A) TAT

(B) 16 PF

(C) TMAS

(D) MMPI

Which of the following is not a
descriptive/correlational research

method ?

(A) Survey

(B) Experiment
(C) Case Study

(D) Naturalistic Observation

16.

17.

18.
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MeeT Ifgaa< AT Yreaf QehTgR

HIOATH YT hell, ATTHR FfgHd &l

freif@a 2

(A) STa

(B) 313+d

(C) TEN e e Sr=rel el
(D) STa9 =T sT9a et

WeATAUehT ShI0Td =0T LT STeoiei
Wy e ?

(A) HAEE] TGS =N

(B) 16 HfaqH<d =

(C) ¥ Hhe TR w@hal

(D) THEe =HHferdAe Sgyeeen gl

Weftel HIot Jgal & o fohar
Tedsel Geled ggdl A ?

(A) TAeT
(B) WA

(C) =Hferie™
(D) frartey fieror

[P.T.O.



19.

(P) Guilford

Match Column-I with Column-II
and give your answer with the help

of codes given below :

Column-I

(Psychologist)

(Q) Cattell

(R) Wechsler

(S) Binet

20.

Codes :

P)
A D
B) )
©) @)
D) (2)

Q)
(2)
(4)
(3)
(1)

(R)
3)
(1)
(2)
4)

(1)

(2)

3)

4)

(S)

(4)

(2)

(1)
3)

Column-II
(Terms/
Concepts)
Measure of
‘e’ factor
Performance
factor

Fluid
intelligence
Content and

operations

The following is not a structure

included in the meninges :

(A) Mastoid process

(B) Piamater

(C) Arachnoid membrane

(D) Duramater
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19. WY-I 01 TY-1I1 IHeid SIS ol

9 Wil Hehdrea ER SO 91 ¢

wY-I

(AT EITTEH)

(P) frowE

(Q whed
(R) ¥R
(S) fem

- -
.
-

P)
A D
B) 3
C) @)
D) (2)

Q)
(2)
(4)
(3)
(1)

(1)

(2)
3)
4)

R) S
3 @
1) (@)
2 @
4) 3

-1
(HereaT/
afyTee)
S-SR
GIEE|

fRads weh
s gfgr
SR
Sl Hfsha

20. & HAfETShERONdd ST AT

(A) T=EEFE 99g

(B) Hg A0

(C) SIeT AT

(D) §&@ AT

10



21.

22.

23.

Aguesia is the inability to

recognize :

(A) Tastes

(B) Colours

(C) Odors

(D) Shapes

that

Two-factor theory, is a

combination of classical conditioning
and operant conditioning, is one of

the explanations of :
(A) Generalization

(B) Discrimination

(C) Shaping

(D) Avoidance learning

Memory disruption that occurs due
to information presented after the
material that is to be remembered

is known as :

(A) Positive transfer
(B) Negative transfer
(C) Zero transfer

(D) Retroactive interference

22.

23.
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(A) =d
(B) T
(C) 7™

(D) 3R

fgeresh SR S STysid TR e e
17T SIReh STfeEeR T 3R o

TSRO A
(A) HH=IERTOT
(B) 9HIehTom=
(C) SRR
(D) ATTH

STt Hifedt TIEIER TeTd AT el
mifed=n @ oo Aifedi|es T
AT v WU

(A) &9 TRy
(B) RUT GhHUI
(C) I HHhAU

(D) gaaa =

11

[P.T.O.



24. A common logical error that people

25.

make is to seek information that
supports their ideas rather than
evidence that would invalidate those
ideas. This is known as :

(A) Deductive reasoning

(B) The confirmatory bias

(C) Affirming the consequent
(D) Affirming the antecedent
Which part of the brain is
responsible for biologically driven

motivational processes ?

(A) Thalamus

(B) Hippocampus

(C) Limbic system

(D) Hypothalmus
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24. UH GIUTT dqHhQIT 3THT Hi, i

25.

TSI AT Shed 1 Tedes QU=

TS

Hlledld

Hehe™ AT S TN Hedl

e STad. I WA

(A) TR dehRigAM

(B) ATHRATHE o8
(C) Brepruedl afom
(D) TrehmIel gead!

TS IV | Siforeh el J=ferd IXeh

Hishaehial SelelqR 3T&dl ?
(A) =ETH

(B) e

(C) TRt ween

(D) AUTAATE TR

12



26. Match Column-I and Column-II by

using the codes given below :

Column-I

(Psychologists)

(P) Cattell

(Q) Hathaway &
McKinley

(R) Holland

(S) Binet
Codes :
P) @
A @ 3
(B) 2 @)
€ 1) (@)
D) 3) (@D

(R)
(2)
(1)
3)
4)

(1)
(2)

3)

4)

(S)
(1)
3)
4)
(2)

Column-II
(Concepts/
Scales)
Masculinity
Intelligence
Quotient
Mental
ability

Enterprising

27. The ego attempts to mediate

demands of id in relation to real

work according to :

(A) The pleasure principle

(B) The reality principle

(C) The primary process principle

(D) Both (A) and (C) are correct
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96. WY-I 3N WY-IT IT== SISl el 9

qEil Hehdieal STHR IR A :

wY-I

(AT

(P) hed

(Q woa-HfhTed

(R) Bl
(S) fem

- -
-
.

(P)
A @)
(B) (2
© @

D) 3)

Q)
3)
(4)
(2)
(1)

(R)
(2)
(1)
3)
(4)

(1)
2)
3)
(4)

(S)
(1)
3)
(4)
(2)

wWY-11
(Heheudr/
HIUT)

TEY- T

HHaeh &9

27. I ARKE HANN HElUd A6 378
HegEefihed HeaudrEl Yae  AT{ER

E x|

(A) @ T

(B) 99 d™

(C) HAYd Yfshar o<
(D) (A) =T (C) ® Tl &R

13

[P.T.O.



28.

29.

(P)

Q)

(R)

(S)

Which of the following data
collection technique is not well suited

for studying attitude ?

(A) Questionnaire

(B) Direct observation

(C) Psychological tests

(D) Physiological recordings
Match List-I with List-II and select

the correct answer by using the

codes given below :

List-I List-II
Summated (1) Osgood
rating scale
Successive (2) Stephenson
intervals
method
Semantic (3) Likert
differential
Q-sort (4) Thurston
Codes :

P Q@ ® ©)
A 6 @ @O @
B @ @O @ @
© @ @ @©O 3
O @ & @ @

28.

29.

P)

Q

(R)

(S)
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SIfERI ATIATETS! ®Ieflal hiod T

I A ?

(A) Tt

(B) %= friem

(C) AMERTSE =Taua
(D) ¥Rk Wwifen

-1 enfor =Et-11 ammefier Seen man
9 Yeld Hehdledl R Id I AT

1T G-I
HHR (1) sitare
Y= A
et wAR  (2) Fewed
RE-|
SR fasEt a3 (3) e
Q-hrHat (4) oA
Hehdich :

P @ @R )
A 8 @ @O @
B & 1 @ @
@ @ @O B
M @O & @) @

14
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the correct answer by using the PN Co -
: Eeiiel foeiedn HehdishMEH I I
codes given below :
List-I List-II e
Types of Modality RIS rat-11
Cutaneous Best =T R FraTesett
Receptors Handled A
(P) Pacinian (1) Pressure
(P) Tl whivment (1) <=
corpuscle
(Q Ruffini ending (2) Pain and (Q T 3 (2) T I qHEH
temperature | (R) Hehdd 37H (3) Tggt
(R) Merkel ending (3) Touch S) T 5 s () w
(S) Free nerve (4) Vibration .
. Wehdiah :
ending
Codes : P) Q [®) (5
P) Q @R ) A1 @ 2 O
@ L@ @ 6 ® @ 3 1O @
B @@ @ < @ O G @
©C @ @O & @
D 3 @2 @ @ D 3 @ @ @
31. Divided attention tasks require | 31. ST fau= HIAHE] SRS Bl
the subject to : 3TeT 3T
(A) Respond quickly to one among (A) SAHTIHRT THT ITIHTAT AT
many stimuli Tfafsean <ol
(B) Attend to multiple stimuli (B) 3eh SEUHRIhES I8 higd ol
(C) Search for missing features (C) THeTet H'@IT?T e
(D) Concentrate on the task (D) TR & shigd Lol
15 [P.T.O.



32.

33.

34.

In a variable ratio schedule :

(A) Brief pause in response occurs
immediately after reinforce-

ment

(B) Negligible responding immedi-

ately after reinforcement

(C) Rapid stable rate maintained

between reinforcements

(D) Generally lower rate of respond-
ing
The capacity of short-term memory

is assumed to be :

(A) 10 = 2
(B) 5 =2
(C) 6 =2
D) 7+ 2

Which of the following is not a

theory of reasoning ?
(A) Mental models
(B) Mental logic

(C) Prospect theory

(D) Probabilistic approach

32.

33.

34.
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qiEd TORR SAgE

o o

(A) Yfafewaa < afrer fasmda

(B) WA e T0d Fiafshan
(C) S Yocshiomq s Soig 3T gad
yfafsrar=n o

falla

(D) JECTeh LMY AT Wifeheran

Tl 9T

TeehTfeTeh THcTe &THAT @I TaTgshi

q=a ad
(A) 10 = 2

B) 5 %2

I+

(C) 6 =2

I+

D) 7 x2

I+

ECATeTish! hiordl FagTd &1 FeRigHTT=n
fagia w2

(A) AHES &Y

(B) AMfAh o

(C) wree fagid

(D) g9 gfesm

16
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35. Pancreas releases the following | 35. =A== @iE AR UAlHIE T 9
chemical during and just after a foRfaa @
meal : A)
(A) Insulin
(B) TeE&hIfSH
(B) Glycogen
(C) Pepsin ©)
(D) Glucagon (D) Tefhmr
36. Match List-I with List-IT and select | 36. @RI-I 0T AEH-IT =1 S Arell 307
the correct answer by using the N T frde SR STER A
codes given below :
ST ¢
List-I List-II
(Theorists) (Concepts) RIER! -1
(P) Sternberg (1) Convergent (fagiderr) (HheanT)
thinking P) - 1) gt
(Q) Cattell (2) Performance
intelligence (Q) Hed (2) THa SffgH
(R) Guilford (3) Contextual | (R) faie 3) " gfgmm
intelligence (S) TR (4) THfw ghgea
(S) Wechsler (4) Crystalized i
intelligence
Codes : P) @ [® )
P) Q@ @R () A 3 @ 1) @)
B @ @ @ ® @ @ @ O
B 2 3 @ @
<o @O 2 B8 @
© 1 2 G @
D @ 1O 22 @3 D @ @O @2
17 [P.T.O.



37.

38.

When a test ‘appears’ to measure
what it is supposed to measure,

then it has :

(A) Face validity

(B) Split-half validity
(C) Construct validity
(D) Concurrent validity

Which of the following is the
best example of an operational

definition ?

(A) Hypotheses are educated
guesses that can be confirmed

or rejected by evidence

(B) Class participation is the
number of times a student

raises his or her hand in class

(C) Cognitive processes include

perception, remembering,

problem solving and

understanding.

(D) Reading ability can be used to
predict success in introductory

psychology classes

37.

38.
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39.

40.

Item analysis of an aptitude test
could be performed by using :

(1) Alpha coefficient

(2) Item discrimination index
(3) Item difficulty level

(4) KR-20

Select the correct option from the
codes given below :

(A) (1) only

(B) (2) and (3)

(C) (3) and (4)

D) (2), (3) and (4)
The circle of Willis is :

(1) Named after English anatomist
Thomas Willis.

(2) Formed by anterior branches of
internal carotid artery.

(3) Formed by anterior and

posterior communicating artery.

(4) Formed by posterior cerebral

branches of basilar artery.
Codes :
(A) (1) and (2) only
(B) (1) and (3) only
(C) (1), (2) and (3) only
D) (1), (2), (3) and (4)
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fafeq emee 9

S N O

(2) AR HUfes=

BRG]
(3) 3 9 9¥d Fyuu Afeviiqy s d
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D) (1), (2), (3) fuT (4)
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41.

42.

43.

Choose the correct sequence that
occurs during transmission of a

nerve impulse :

(1) Action potential
(2) Refractory period
(3) Resting potential
Codes :

A 3) - (1) - (2)
B) (1) - (2) - 3)
€ 3) = (2 - @D
D) 1) - @B) - (2)

The projective test that has been
used a great deal to measure

affiliation need is the :

(A) TAT

(B) MMPI

(C) Sarason Sociability Scale
(D) RIBT

In experimental research, the data

collected by the researcher are the :
(A) Primary variable

(B) Secondary variable

(C) Independent variable

(D) Dependent variable

41.

42.

43.
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44. Which of the following is a correct

order of steps in test construction ?
(1) Development of norms
(2) Identification of construct
(3) Item analysis
(4) Validity analysis
(56) Test-retest reliability analysis
Codes :

A) 2) - 3) = (B) =>4 = )
B) B -4 —B) -2 - 1)
C 2->06)->08-01]->4

M) 1) -2 —> 3B — @ — (b
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45. Approaches to perception that | 45 HATT HAWITHUATE ISUMTH, SHT=ATd
involve direct reception of qfgeret 9 et omfad ey,
information from environment are T
called :

(A) T=ACAe gfteehM
(A) Constructivist approaches
(B) Computational approaches B) ]
(C) Ecological approaches (C) uRRerifoam s gftese
(D) Feature analytical approaches (D) H@T‘T fargetoor gftesm
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46.

47.

When reinforcement is contingent
upon number of responses given by

respondent it is :

(1) Fixed interval schedule
(2) Fixed ratio schedule

(3) Variable ratio schedule
(4) Variable interval schedule
Codes :

(A) (2) and (3) only

(B) (3) and (4) only

(C) (1) and (2) only

(D) (1) and (4) only

Information in long-term memory is

primarily stored in :
(A) Sensory form
(B) Semantic form
(C) Acoustic form

(D) Tactile form
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48.

49.

50.

The wrong representation can
hinder your ability to solve a
problem, especially if you become
stuck on that one interpretation.

This barrier is called :

(A) The representational problem
(B) Algorithm interference

(C) A blocked solution path

(D) Functional fixedness

Selection of moderately challenging
tasks characterized the behaviour of

people who have :

(A) Fear of failing

(B) High need for achievement
(C) Fear of success

(D) Low need for achievement

DIQ is a measure of :

(A) Deviation in personality
disorder

(B) Deviation in intelligence
disorder

(C) Intelligence in standard scores

(D) Intelligence in the form of

ratio 1.Q.

48.

49.

50.
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